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|nt number = 60;

printf("%d\n", number << 1);
printf("%d\n ", number << 2);
printf("%d\n ", number << 3);

O T 7 C st ‘#-F}Zéﬁﬁi%]ﬂﬁ L9
int X = 6688;
int*y = &X;

printf("%d\n", X);
X = 1357;
*y=6688;
printf("%d\n", X);

(—) ngL 77 7 Javafz s BB someFunc(S)mn_a_ NI
publ|c static int someFunc(int n) {
return (n< 2) ?n: n* someFunc(n-1);}

EHF T 2 Java g st BBl S w7
intx=2;, inty=3;, intz=0;
if (x>2){
if (y>2){
Z=X+Y;
System.out.printin("zis" + z2); }
else
System.out.printin("x is" + Xx); }
System.out.printin("y is" +y);

@ T 7] Java 4z 3 %‘ﬂ.’rﬁéﬁjﬂn a e ?
intx =1;
inty =5;
itz =x-- + (++y);
System.out.printin("x ="+ x+"y="+y+"z=" +2);




